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Fu
B first_kit== 2.0000 [N frst kit==  3.0000
B first_kit== 4.0000 first_kit=  5.0000
B first_kit== 6.0000 B first_ kit== 7.0000

1 HAbaRZ

2 NBR

3 Nutrex-S

4 ideal Button

5 HrHn—RE-

6 One step Button

7 others

. tab first_kit, gen( first_kit)

first_ kit| Freq. Percent Cum.

+
2| 23 1565 15.65
3] 6 408 19.73
4] 26 1769  37.41
5| 33 2245 59.86
6| 41 2789 87.76
71 17 1156  99.32
8| 1 068 100.00

-
Total| 147  100.00
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B fist_kit_size== 1.0000 [N frst kit_size==
B first_kit_size== 3.0000 [ first_kit_size==
B first_kit_size== 6.0000

2.0000
5.0000

1.20Fr
2 24Fr
3 18Fr
4 16Fr
5 14Fr

.tab first_kit_size, gen( first_kit_size)

first_kit_s |
ize| Freq. Percent Cum.
+
1] 77 4425 4425
2 | 78 44 .83 89.08
3| 13 7.47 96.55
5| 3 1.72 98.28
6 | 3 1.72  100.00
-
Total | 174  100.00
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- np =

E&Zo
nER

Density

0 5 10
experience_year

15

20

. sum experience_year, detail

experience_year

Percentiles  Smallest

1%
5%
10%
25%

50%

75%
90%
95%
99%

1 1

2 1

3 1 Obs 175

7 2 Sum of Wagt. 175

10 Mean 9.931429
Largest Std. Dev.  5.069164

14 20

18 20 Variance 25.69642

20 20 Skewness 4137047

20 20 Kurtosis 2,361713
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.tab aspiration_amount discordant

.tab aspiration_amount discordant

aspiration | discordant
_amount | 0
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